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1. (11 pts) Daler Mehndi throws a salami straight up at 37.5 m/s. How high does it go above the release point?
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2. (11 pts) A vicious squirrel throws an acorn straight down from a 15.0 m high tree at 8.25 m/s. How long
does it take to hit?
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[image: image2.png]3. (11 pts) An angry bricklayer throws a brick up onto the roof of a 12.5 m high building at 25.0 m/s. Just as it
it lands on the roof of the building, what is its velocity? Draw a well-labeled diagram.
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4. (11 pts) A terrorist shot-putter throws the shot straight down from a 325 m high building at 12.0 m/s. What
is its velocity when it hits the ground?

Vey = Ve, “= Uiy v 2249

A(): —225Sm V.'cﬁ'z: (”/Z%> L+;(~9’gg‘)(_.$2§q)
Vey = —12,0%

S

. U{, ’—'80.7%
& -’——?,8?,'




[image: image3.png]5. (6 pts) A lunar lander is using its engine to hover motionless above the surface of the moon at the altitude of
1000 m. The commander then shuts the engine down and allows the lander to free fall with the lunar
acceleration of 1.61 m/s? until it is 285 m above the surface. At this point he fires the engine which is capable

of producing a constant upward acceleration of 4.00 m/s*>. The engine burns continually until the lander lands.
At what velocity will the lander hit the moon? Draw a well-labeled diagram.
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EC (5 pts, 52.5 max) In problem 1, what are the two times (after it is thrown) the salami is 30 m above the
ground?
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EC (5 pts, 52.5 max) In problem 5, how long does the landing take from 1000 m to the surface?
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